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Stage 1 - General Mathematics Trigonometry Test

e Unless otherwise stated, give all answers to 1 decimal place

1  Find the value of x for each of the triangles below:
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2 A helicopter flies due south for 27 km, then turns and heads due west for 36 km. How fa

is the helicopter from its starting point?

a) Show that this trlangle is not rlght angled b) Find the area of this triangle
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138 cm
36°

7.2 cm

47°
103°

7 Use the sine rule to find the value of x. Give your answers correct to two decimal places.
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8 Use the sine rule to find the value of 0, to the nearest degree.
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Use the cosine rule to find the value of x. Give your answer correct to one decimal place.
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10 Find the value of 0 to the nearest degree.
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11 [fa triangle has side lengths 23 cm, 28 cm and 32 cm, find the size of the smallest angle,

correct to one decimal place
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12 In the square-based pyramid shown, 40 = 12 cm, DC = 10 cm and B is the midpoint
of CF. Find:

a the exact value of the length AB

b  the angle ZOBA (correct to one decimal place)

¢ the length AF (correct to one decimal place)

d the angle ZAFB (correct to one decimal place)

ﬂz“qw‘wﬂé)

el © J'

Ao e

awd L

co

A NS S >0 ‘“’\Qf\;\'\

AN ) A\L&
lLégf

J ..

*\‘7\{ S
A

7
Tﬁﬁ?4>ju'



Name Class Page 6 of 8

N’N\ 13 From the foot of a building I have to look upwards at an angle of 22° to sight the top of a
UO(‘ 5{“"‘7 tree. From the top of the building, 150 metres above ground level, I have to look

s V_ﬂ’ Q\ down at an angle of 50° below the horizontal to sight the tree top.
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2 &) How high is the tree? — 2. Fid 5)

D Find x (e of Aree).
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14 A ship is 300 km from port on a bearing of 070°T. A second ship is 400 km from the
same port and on a bearing of 140°T. How far apart, correct to the nearest kilometre, are the

two ships?
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Two hikers, Paul and Quentin, are both looking at a distant landmark. From Paul the
bearing of the landmark is 222°T, and from Quentin the bearing of the landmark is

15

300°T. If Quentin is standing 800 m due South of Paul, find, correct to the nearest

a) the distance from Paul to the landmark
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b) the distance from Quentin to the landmark.
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